Calculus I


Midterm 3
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ADVANCE \u 3           
Signature:    _______________________   


1. Evaluate the following indefinite integrals.
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Use Substitution in (d) and (e)
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(f) Fill in the box to make the questions an easy Chain Rule in Reverse and then find the integral.  
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3. 
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 that is, find the area between
f(x) = 
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 and the x axis from x = 1 to x = 3. Use equal subintervals and 
zi = RIGHT endpoint of the i’th subinterval. In your solution, state the values of xi,  xi, and zi and draw a sample “i’th” rectangle on the graph.   
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4. A closed silver box with a square base is to have a volume of 2000 cm3. Material costs $3/cm2 for the bottom and top and $1.50/cm2 for the sides. Find the dimensions which minimize the cost.
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5.  The indefinite integral of the function 
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We use the notation
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to measure the definite integral of 
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, which is the limit of the sum of “skinny things.” Using the Fundamental Theorem of Calculus, explain why we use the “
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” symbol in both notations.
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